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Plot [[' EcFgro’, 'EcFzExp’,

"EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff

Warning: col ['FVIEC1 _E', 'FVOEC1_E2'] missing
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [[’ FVOEC:

r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [[’ FVOPH:

r-o', 'PHO:g-o’]]
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Trend plot forP3-1_0
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ET (ml/hr/plant)

P3-1_0, Day=79 (2025-06-16)
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P3-1

BYE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 SRR

09:10 273 150.0 2.583 FA| 1BRi%@09:10 B3h (KRA{EREE)
10:10 273 150.0 2.583 |Z=| {Ri&e10:10 Bz (REAEZBE)
12:30 273 150.0 2.583 |/)hili| 1Ri&e@12:30 B3h (RAERSE)
2it| 819.0 (3%) 450.0 EWGHIKEC: 2200, PH: 5.5

large discrepency for begining water status (220:27.0), set to 220 ml

E;&PH (7.5) /e

HERIE Y S KFHRPH 5. 5249999999999995, HFHEARH AL B shiBiEPH, EF AR
PBEEIRECE (1703. 0 vs 4383.0)53 5

RS RIFIREC 2200. 0



P3-1_0, Day=78 (2025-06-15)
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P3-1
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